

Available online at http://scik.org J. Math. Comput. Sci. 11 (2021), No. 5, 5167-5180 https://doi.org/10.28919/jmcs/5993 ISSN: 1927-5307

FIXED POINT RESULTS FOR GERAGHTY CONTRACTION TYPE MAPPINGS IN b-METRIC SPACES

JIRAPORN LIMPRAYOON, DUANGKAMON KITKUAN*

Department of Mathematics, Faculty of Science and Technology, Rambhai Barni Rajabhat University, Chanthaburi 22000, Thailand

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we introduce some new results on the fixed point and common fixed points of Geraghty contraction mappings in b-metric b-complete spaces. Moreover, we give a representative example to illustrate the compatibility of our results.

Keywords: *b*-metric space; Geraghty; fixed point.

2010 AMS Subject Classification: 47H09, 47H10, 54H25.

1. INTRODUCTION

The famous extensions of the concept of metric spaces have been done by Czerwik [1] where he introduced and studied the concepts of b-metric spaces. Bakhtin [2] uses b-metric spaces as a generalization of metric spaces for find fixed point. After that, several papers have been published on the theory of the fixed point in this space. For additional works and results in b-metric spaces, we encourage readers to refer to the reference ([3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13]).

^{*}Corresponding author

E-mail address: or_duangkamon@hotmail.com

Received May 8, 2021

In this section, we recall some basic known definitions, notations and results in *b*-metric spaces which will be used in the sequel. Throughout this article, N, R, R^+ denote the set of natural numbers, the set of real numbers and the set of positive real numbers, respectively.

Definition 1.1. [1]. Let X be a nonempty set and $s \ge 1$ be a given real number. A function $d: X \times X \rightarrow [0, \infty)$ is said to be a *b*-metric on X if the following conditions hold:

- (i) d(x,y) = 0 if and only if x = y;
- (ii) d(x,y) = d(y,x) for all $x, y \in X$;
- (iii) $d(x,y) \leq s(d(x,z) + d(z,y))$ for all $x, y, z \in X$.

In this case, the pair (X,d) is called a *b*-metric space.

It is worth mentioning that the class of b-metric spaces is effectively larger than that of the ordinary metric spaces. The following example illustrates the above fact.

Example 1. [16]. Let (X,d) be a metric space and let $\beta > 1$, $\lambda \ge 0$ and $\mu > 0$. For $x, y \in X$, set $\rho(x,y) = \lambda d(x,y) + \mu d(x,y)^{\beta}$. Then (X,ρ) is a b-metric space with the parameter $s = 2^{\beta-1}$ and not a metric space on X.

Definition 1.2. [17]. Let (X,d) be a *b*-metric space, $x \in X$ and (x_n) be a sequence in X. Then

- (i) $\{x_n\}$ converges to x if and only if $\lim_{n\to\infty} d(x_n, x) = 0$. We denote this by $\lim_{n\to\infty} x_n = x$ or $x_n \to x(n \to \infty)$.
- (ii) $\{x_n\}$ is Cauchy if and only if $\lim_{n,m\to\infty} d(x_n,x_m) = 0$.
- (iii) (X,d) is complete if and only if every Cauchy sequence in X is convergent.

Remark 1.1. [17]. In a b-metric space (X,d), the following assertions hold:

- (i) A convergent sequence has a unique limit.
- (ii) Each convergent sequence is Cauchy.
- (iii) In general, a b-metric is not continuous.

Theorem 1.1. [18]. Let (X,d) be a complete metric space. Let $f : X \to X$ be given mapping satisfying:

(1.1)
$$d(fx, fy) \le \alpha(d(x, y))d(x, y), \quad \forall x, y \in X,$$

where $\alpha \in \mathscr{A}$. Then *f* has a unique fixed point.

At \mathscr{A} be the family of all functions $\alpha: [0,\infty) \to [0,1)$ satisfying the property:

$$\lim_{n\to\infty} \alpha(t_n) = 1 \quad \text{implies} \quad \lim_{n\to\infty} t_n = 0.$$

Theorem 1.2. [19] Let (X,d) be a *b*-complete *b*-metric space with parameter *s* self-map. Suppose that there exists $\beta \in \mathscr{B}$ such that:

(1.2)
$$d(fx, fy) \le \alpha(d(x, y))d(x, y), \quad \forall x, y \in X,$$

where $\alpha \in \mathcal{B}$. Then *f* has a unique fixed point.

At (X,d) be a *b*-metric space with parameter $s \ge 1$ and \mathscr{B} denote the set of all functions $\beta : [0,\infty) \to [0,1)$, satisfing the following condition:

$$\lim_{n\to\infty}\beta(t_n)=\frac{1}{s}\quad\text{implies}\quad\lim_{n\to\infty}t_n=0.$$

2. MAIN RESULTS

Theorem 2.1. Let (X,d) be a b-complete b-metric space with parameter $s \ge 1$. Let $f: X \to X$ be a self-mapping satisfying:

(2.1)
$$d(fx, fy) \le \beta(\mathscr{L}(x, y))\mathscr{L}(x, y), \quad \forall x, y \in X,$$

where

$$\mathscr{L}(x,y) = \max\bigg\{d(x,y), \frac{d(x,fx)[1+d(y,fy)]}{1+d(x,y)}, \frac{d(x,fx)[1+d(y,fy)]}{1+d(fx,fy)}, \frac{d(x,fy)+d(y,fx)}{2s}\bigg\},$$

and $\beta \in \mathscr{B}$. Then f has a unique fixed point.

Proof. Let $x_0 \in X$ be arbitrary and $\{x_n\}$ such that

$$x_n = f x_{n-1} = f^n x_0, \quad \forall n \in \mathbb{N}.$$

If there exists $n \in \mathbb{N}$ such that $x_{n+1} = x_n$, then x_n is a fixed point of f and the proof is finished. Otherwise, we have $d(x_{n+1}, x_n) > 0$ for all $n \in \mathbb{N}$. Using (2.1), we obtain

(2.2)
$$d(x_n, x_{n+1}) = d(fx_{n-1}, fx_n) \leq \beta(\mathscr{L}(x_{n-1}, x_n))\mathscr{L}(x_{n-1}, x_n),$$

where

$$\begin{split} \mathscr{L}(x_{n-1},x_n) &= \max\left\{ d(x_{n-1},x_n), \frac{d(x_{n-1},fx_{n-1})[1+d(x_n,fx_n)]}{1+d(x_{n-1},x_n)}, \frac{d(x_{n-1},fx_{n-1})[1+d(x_n,fx_n)]}{1+d(fx_{n-1},fx_n)}, \frac{d(x_{n-1},fx_n)+d(x_n,fx_{n-1})}{2s} \right\} \\ &= \max\left\{ d(x_{n-1},fx_n), \frac{d(x_{n-1},x_n)[1+d(x_n,x_{n+1})]}{1+d(x_{n-1},x_n)}, \frac{d(x_{n-1},x_n)[1+d(x_n,x_{n+1})]}{1+d(x_n,x_{n+1})}, \frac{d(x_{n-1},x_{n+1})+d(x_n,x_n)}{2s} \right\} \\ &= \max\left\{ d(x_{n-1},x_n), \frac{d(x_{n-1},x_n)[1+d(x_n,x_{n+1})]}{1+d(x_{n-1},x_n)}, d(x_{n-1},x_n), \frac{d(x_{n-1},x_{n+1})}{2s} \right\} \\ &\leq \max\left\{ d(x_{n-1},x_n), d(x_n,x_{n+1}), \frac{s[d(x_{n-1},x_n)+d(x_n,x_{n+1})]}{2s} \right\} \\ &= \max\{d(x_{n-1},x_n), d(x_n,x_{n+1})\} \end{split}$$

If $\max\{d(x_{n-1}, x_n), d(x_n, x_{n+1})\} = d(x_n, x_{n+1})$, then from (2.2) we would have

(2.3)
$$d(x_{n}, x_{n+1}) \leq \beta(d(x_{n}, x_{n+1}))d(x_{n}, x_{n+1})$$
$$\leq \frac{1}{s}d(x_{n}, x_{n+1})$$
$$< d(x_{n}, x_{n+1}),$$

which is a contradiction. Hence, $\max\{d(x_{n-1}, x_n), d(x_n, x_{n+1})\} = d(x_{n-1}, x_n),$

(2.4)
$$d(x_{n}, x_{n+1}) \leq \beta(d(x_{n-1}, x_{n}))d(x_{n-1}, x_{n})$$
$$\leq \frac{1}{s}d(x_{n-1}, x_{n})$$
$$< d(x_{n-1}, x_{n}).$$

Since $\{d(x_{n-1}, x_n)\}$ is a decreasing sequence of non-negative reals. Hence, there exists $\rho \ge 0$ such that $\lim_{n\to\infty} d(x_{n-1}, x_n) = \rho$. We will prove that $\rho = 0$. Suppose on contrary that $\rho > 0$. Then, taking $n \to \infty$ in (2.4) we have

$$\rho \leq \limsup_{n\to\infty} \beta(\mathscr{L}(x_{n-1},x_n))\rho$$

Then,

$$\frac{1}{s} \leq 1 \leq \limsup_{n \to \infty} \beta(\mathscr{L}(x_{n-1}, x_n)) \leq \frac{1}{s}.$$

From $\beta \in \mathscr{B}$, then $\limsup_{n \to \infty} \beta(\mathscr{L}(x_{n-1}, x_n)) = 0$. Hence, $\lim_{n \to \infty} d(x_{n-1}, x_n) = 0$, which is a contradiction, that is, $\rho = 0$. Now, we prove that the sequence $\{x_n\}$ is a *b*-Cauchy sequence. Suppose the contrary. Then there exists $\varepsilon > 0$ for which we can find subsequences $\{x_{m(k)}\}$ and $\{x_{n(k)}\}$ of $\{x_n\}$ such that n(k) is the smallest index for which n(k) > m(k) > k and

$$(2.5) d(x_{m(k)}, x_{n(k)}) \ge \varepsilon.$$

This means that

$$(2.6) d(x_{m(k)}, x_{n(k)-1}) < \varepsilon.$$

Using (2.5) and the triangular inequality, we get

$$\varepsilon \le d(x_{m(k)}, x_{n(k)}) \le s[d(x_{m(k)}, x_{m(k)+1}) + d(x_{m(k)+1}, x_{n(k)})].$$

Then, we get

(2.7)
$$\frac{\varepsilon}{s} \leq \limsup_{k \to \infty} d(x_{m(k)+1}, x_{n(k)}).$$

From the definition of $\mathscr{L}(x, y)$ and the above limits,

$$\begin{split} &\lim_{k \to \infty} \mathcal{L}(x_{m(k)}, x_{n(k)-1}) \\ &= \limsup_{k \to \infty} \max \left\{ d(x_{m(k)}, x_{n(k)-1}), \frac{d(x_{m(k)}, fx_{m(k)})[1 + d(x_{n(k)-1}, fx_{n(k)-1})]}{1 + d(x_{m(k)}, x_{n(k)-1})}, \frac{d(x_{m(k)}, fx_{n(k)-1}) + d(x_{n(k)-1}, fx_{m(k)})}{1 + d(fx_{m(k)}, fx_{n(k)-1})}, \frac{d(x_{m(k)}, fx_{n(k)-1}) + d(x_{n(k)-1}, fx_{m(k)})}{2s} \right\} \\ &= \limsup_{k \to \infty} \max \left\{ d(x_{m(k)}, x_{n(k)-1}), \frac{d(x_{m(k)}, x_{m(k)+1})[1 + d(x_{n(k)-1}, x_{n(k)})]}{1 + d(x_{m(k)}, x_{n(k)-1})}, \frac{d(x_{m(k)}, x_{n(k)-1})}{1 + d(x_{m(k)-1}, x_{n(k)})} \right\} \end{split}$$

$$= \limsup_{k \to \infty} \max \left\{ d(x_{m(k)}, x_{n(k)-1}), \frac{d(x_{m(k)}, x_{m(k)+1})[1 + d(x_{n(k)-1}, x_{n(k)})]}{1 + d(x_{m(k)}, x_{n(k)-1})}, \frac{d(x_{m(k)}, x_{n(k)-1})[1 + d(x_{n(k)-1}, x_{n(k)})]}{1 + d(x_{m(k)+1}, x_{n(k)})}, \frac{s[d(x_{m(k)}, x_{n(k)-1}) + d(x_{n(k)-1}, x_{n(k)})]}{2s}, \frac{s[d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)}, x_{m(k)+1})]}{2s} \right\}$$

 $\leq \varepsilon$.

Using (2.7) and (2.1), we get

$$\varepsilon = s(\frac{\varepsilon}{s}) \leq s \limsup_{k \to \infty} d(x_{m(k)+1}, x_{n(k)})$$

$$\leq \limsup_{k \to \infty} \beta(\mathscr{L}(x_{m(k)}, x_{n(k)-1}))\mathscr{L}(x_{m(k)}, x_{n(k)-1})$$

$$\leq \varepsilon \limsup_{n \to \infty} \beta(\mathscr{L}(x_{m(k)}, x_{n(k)-1}))$$

which implies that $\frac{1}{s} \leq \limsup_{k \to \infty} \beta(\mathscr{L}(x_{m(k)}, x_{n(k)-1})) \leq \frac{1}{s}$. From $\beta \in \mathscr{B}$ we conclude that $\mathscr{L}(x_{m(k)}, x_{n(k)-1}) \to 0$, as a result, $d(x_{m(k)}, x_{n(k)-1}) \to 0$. Using (2.5) and the *b*-triangular inequality, we get

$$\varepsilon \leq d(x_{m(k)}, x_{n(k)}) \leq s[d(x_{m(k)}, x_{n(k)-1}) + d(x_{n(k)-1}, x_{n(k)})].$$

Hence, $\lim_{k\to\infty} d(x_{m(k)}, x_{n(k)}) = 0$, a contradiction to (2.5). Thus, $\{x_n\}$ is a *b*-Cauchy sequence. The completeness of *X* implies that there exists $\theta \in X$ such that $x_n \to \theta$. Next, We will show that θ is a fixed point of *f*. Using *b*-triangular inequality and (2.1), we get

$$d(\theta, f\theta) \leq s[d(\theta, fx_n) + d(fx_n, f\theta)]$$

$$\leq sd(\theta, fx_n) + s\beta(\mathscr{L}(x_n, \theta))\mathscr{L}(x_n, \theta).$$

Taking $n \rightarrow \infty$ in the above inequality, we obtain

(2.8)
$$d(\theta, f\theta) \leq s \limsup_{n \to \infty} d(\theta, x_{n+1}) + s \limsup_{n \to \infty} \beta(\mathscr{L}(x_n, \theta)) \limsup_{n \to \infty} \mathscr{L}(x_n, \theta),$$

$$\lim_{n \to \infty} \sup \mathcal{L}(x_n, \theta)$$

$$= \limsup_{n \to \infty} \max \left\{ d(x_n, \theta), \frac{d(x_n, fx_n)[1 + d(\theta, f\theta)]}{1 + d(x_n, \theta)}, \frac{d(x_n, fx_n)[1 + d(\theta, f\theta)]}{1 + d(fx_n, f\theta)}, \frac{d(x_n, f\theta) + d(\theta, fx_n)}{2s} \right\}$$

$$(2.9)$$

$$\leq \limsup_{n \to \infty} \max \left\{ d(x_n, \theta), \frac{d(x_n, x_{n+1})[1 + d(\theta, f\theta)]}{1 + d(x_n, \theta)}, \frac{d(x_n, x_{n+1})[1 + d(\theta, f\theta)]}{1 + d(x_{n+1}, f\theta)}, \frac{d(x_n, f\theta) + d(\theta, x_{n+1})}{2s} \right\}$$

$$\leq \limsup_{n \to \infty} \max \left\{ d(x_n, \theta), \frac{d(x_n, x_{n+1})[1 + d(\theta, f\theta)]}{1 + d(x_n, \theta)}, \frac{d(x_n, x_{n+1})[1 + d(\theta, f\theta)]}{1 + d(x_{n+1}, f\theta)}, \frac{s[d(x_n, \theta) + d(\theta, f\theta)] + d(\theta, x_{n+1})}{2s} \right\}$$

Using (2.8), we get

(2.10)
$$d(\theta, f\theta) \leq s \limsup_{n \to \infty} \beta(\mathscr{L}(x_n, \theta)) d(\theta, f\theta).$$

which implies that $\frac{1}{s} \leq \limsup_{n \to \infty} \beta(\mathscr{L}(x_n, \theta)) \leq \frac{1}{s}$. From $\beta \in \mathscr{B}$ we conclude that $\lim_{n \to \infty} \mathscr{L}(x_n, \theta) = 0$. Hence, $f\theta = \theta$.

Finally, suppose that the set of fixed point of f is well ordered. Assume on contrary, that θ and Φ are two fixed points of f such that $\theta \neq \Phi$. Using (2.1), we get

$$d(\theta, \Phi) = d(f\theta, f\Phi) \le \beta(\mathscr{L}(\theta, \Phi))\mathscr{L}(\theta, \Phi),$$

where

$$\begin{split} &\mathcal{L}(\theta, \Phi) \\ &= \max \bigg\{ d(\theta, \Phi), \frac{d(\theta, f\theta)[1 + d(\Phi, f\Phi)]}{1 + d(\theta, \Phi)}, \frac{d(\theta, f\theta)[1 + d(\Phi, f\Phi)]}{1 + d(f\theta, f\Phi)}, \frac{d(\theta, f\Phi) + d(\Phi, f\theta)}{2s} \bigg\} \end{split}$$

$$= \max\left\{ d(\theta, \Phi), \frac{d(\theta, \theta)[1 + d(\Phi, \Phi)]}{1 + d(\theta, \Phi)}, \frac{d(\theta, \theta)[1 + d(\Phi, \Phi)]}{1 + d(\theta, \Phi)}, \frac{d(\theta, \Phi) + d(\Phi, \theta)}{2s} \right\}$$
$$= \max\left\{ d(\theta, \Phi), \frac{d(\Phi, \theta)}{s} \right\}$$
$$= d(\theta, \Phi).$$

Hence, we have $d(\theta, \Phi) < \frac{d(\theta, \Phi)}{s}$, a contradiction. So, $\theta = \Phi$ and the fixed point of f is unique.

Example 2. Let $X = \{3,4,5\}$ and $d: X \times X \rightarrow [0,\infty)$ be defined as follows:

(i) d(3,4) = d(4,3) = 3(ii) $d(3,5) = d(5,3) = \frac{3}{25}$ (iii) $d(4,5) = d(5,4) = \frac{20}{25}$ (iv) d(3,3) = d(4,4) = d(5,5) = 0.

It is easy to check that (X,d) is a *b*-metric space with constant $s = \frac{5}{4}$. Take f3 = f5 = 3, f4 = 5and $\beta(t) = \frac{4}{5}e^{-t}, t > 0$ and $\beta(0) \in [0,5)$. Then we have

$$d(f3, f4) = d(3,5) = \frac{3}{25} \le \frac{4}{5}e^{-3} = \beta(\mathscr{L}(3,4))\mathscr{L}(3,4),$$

$$d(f3, f5) = d(3,3) = 0 \le \beta(\mathscr{L}(3,5))\mathscr{L}(3,5),$$

$$d(f4, f5) = d(5,3) = \frac{3}{25} \le \frac{4}{5}e^{\frac{20}{25}} = \beta(\mathscr{L}(4,5))\mathscr{L}(4,5).$$

Hence, the conditions of Theorem 2.1 are satisfied.

Theorem 2.2. Let (X,d) be a b-complete b-metric space with $s \ge 1$. Let f,g be self-mappings on X which satisfy

(2.11)
$$sd(fx,gy) \le \beta(\mathscr{L}(x,y))\mathscr{L}(x,y), \quad \forall x,y \in X,$$

where

$$\mathscr{L}(x,y) = \max\left\{ d(x,y), \frac{d(x,fx)[1+d(y,gy)]}{1+d(x,y)}, \frac{d(x,fx)[1+d(y,gy)]}{1+d(fx,gy)} \right\},\$$

and $\beta \in \mathscr{B}$. If f or g are continuous, then f and g have a unique common fixed point.

Proof. Let x_0 be arbitrary. Define the sequence $\{x_n\}$ in X by $x_{2n+1} = fx_{2n}$ and $x_{2n+2} = gx_{2n+1}$ for all n = 0, 1, ... Using (2.11), for all n = 0, 1, 2, ..., we get

$$(2.12) sd(x_{2n+1},x_{2n+2}) = sd(fx_{2n},Sx_{2n+1}) \le \beta(\mathscr{L}(x_{2n},x_{2n+1}))\mathscr{L}(x_{2n},x_{2n+1}),$$

where

$$\begin{aligned} \mathscr{L}(x_{2n}, x_{2n+1}) \\ &= \max\left\{ d(x_{2n}, x_{2n+1}), \frac{d(x_{2n}, fx_{2n})[1 + d(x_{2n+1}, gx_{2n+1})]}{1 + d(x_{2n}, x_{2n+1})}, \frac{d(x_{2n}, fx_{2n})[1 + d(x_{2n+1}, gx_{2n+1})]}{1 + d(fx_{2n}, gx_{2n+1})} \right\} \\ &= \max\left\{ d(x_{2n}, x_{2n+1}), \frac{d(x_{2n}, x_{2n+1})[1 + d(x_{2n+1}, x_{2n+2})]}{1 + d(x_{2n}, x_{2n+1})}, \frac{d(x_{2n}, x_{2n+1})[1 + d(x_{2n+1}, x_{2n+2})]}{1 + d(x_{2n+1}, x_{2n+2})} \right\} \\ &\leq \max\{ d(x_{2n}, x_{2n+1}), d(x_{2n+1}, x_{2n+2})\} \end{aligned}$$

If $\mathscr{L}(x_{2n}, x_{2n+1}) = d(x_{2n+1}, x_{2n+2})$, then

$$sd(x_{2n+1}, x_{2n+2}) \leq \beta(\mathscr{L}(x_{2n}, x_{2n+1}))d(x_{2n+1}, x_{2n+2}) < d(x_{2n+1}, x_{2n+2}),$$

a contradiction. So, we have $\mathscr{L}(x_{2n}, x_{2n+1}) = d(x_{2n}, x_{2n+1})$. Using (2.12), we get

(2.13)
$$d(x_{2n+1}, x_{2n+2}) \leq \beta(\mathscr{L}(x_{2n}, x_{2n+1}))d(x_{2n}, x_{2n+1}) \leq \frac{1}{s}d(x_{2n}, x_{2n+1}).$$

Also, we get $d(x_{2n+1}, x_{2n+2}) \leq d(x_{2n}, x_{2n+1})$. Similarly, $d(x_{2n+3}, x_{2n+2}) \leq d(x_{2n+2}, x_{2n+1})$. Hence, we have $d(x_n, x_{n+1}) \leq d(x_{n-1}, x_n)$. Therefore $\{d(x_n, x_{n+1})\}$ is a nonincreasing sequence, hence there exists $\rho \geq 0$ such that $d(x_n, x_{n+1}) \rightarrow \rho$ as $n \rightarrow \infty$. We will show that $\rho = 0$. Suppose on the contrary that $\rho > 0$. Taking $n \rightarrow \infty$ in (2.13), we get

(2.14)
$$\rho \leq \limsup_{n \to \infty} (\mathscr{L}(x_{2n}, x_{2n+1}))\rho$$

which implies that $\frac{1}{s} \le 1 \le \limsup(\mathscr{L}(x_{2n}, x_{2n+1})) \le \frac{1}{s}$. From $\beta \in \mathscr{B}$ we conclude that $\lim_{n \to \infty} \mathscr{L}(x_{2n}, x_{2n+1}) = 0$. Hence, $\rho = \lim_{n \to \infty} d(x_{2n}, x_{2n+1}) = 0$, a contradiction. This is, $\lim_{n \to \infty} d(x_{2n}, x_{2n+1}) = 0$. Now, we prove that the sequence $\{x_{2n}\}$ is a *b*-Cauchy sequence. Suppose the contrary. Then there exists $\varepsilon > 0$ for which we can find subsequences $\{x_{2m(k)}\}$ and $\{x_{2n(k)}\}$ of $\{x_{2n}\}$ such that n(k) is the smallest index for which n(k) > m(k) > k and

$$(2.15) d(x_{2m(k)}, x_{2n(k)}) \ge \varepsilon.$$

This means that

(2.16)
$$d(x_{2m(k)}, x_{2n(k)-1}) < \varepsilon$$

Using (2.11) and (2.15), we get

(2.17)

$$\varepsilon \leq d(x_{2n(k)}, x_{2m(k)})$$

$$\leq sd(x_{2n(k)}, x_{2n(k)+1}) + sd(x_{2n(k)+1}, x_{2m(k)})$$

$$= sd(x_{2n(k)}, x_{2n(k)+1}) + sd(fx_{2n(k)}, gx_{2m(k)-1})$$

$$\leq sd(x_{2n(k)}, x_{2n(k)+1}) + \beta(\mathscr{L}(x_{2n(k)}, x_{2m(k)-1}))\mathscr{L}(x_{2n(k)}, x_{2m(k)-1}),$$

where

$$\begin{split} \mathscr{L}(x_{2n(k)}, x_{2m(k)-1}) &= \max \left\{ d(x_{2n(k)}, x_{2m(k)-1}), \frac{d(x_{2n(k)}, fx_{2n(k)})[1 + d(x_{2m(k)-1}, gx_{2m(k)-1})]}{1 + d(x_{2n(k)}, x_{2m(k)-1})]} \right\} \\ &\quad \frac{d(x_{2n(k)}, fx_{2n(k)})[1 + d(x_{2m(k)-1}, gx_{2m(k)-1})]}{1 + d(fx_{2n(k)}, gx_{2m(k)-1})} \right\} \\ &= \max \left\{ d(x_{2n(k)}, x_{2m(k)-1}), \frac{d(x_{2n(k)}, x_{2n(k)+1})[1 + d(x_{2m(k)-1}, x_{2m(k)})]}{1 + d(x_{2n(k)}, x_{2m(k)-1})}, \frac{d(x_{2n(k)}, x_{2m(k)-1}), \frac{d(x_{2n(k)-1}, x_{2m(k)-1})}{1 + d(x_{2n(k)}, x_{2m(k)-1})} \right\}. \end{split}$$

Taking $k \to \infty$, we get

$$\limsup_{k\to\infty} \mathscr{L}(x_{2n(k)}, x_{2m(k)-1}) = \limsup_{k\to\infty} d(x_{2n(k)}, x_{2m(k)-1}).$$

Using the b-triangular inequality, we get

$$(2.18) d(x_{2n(k)}, x_{2m(k)-1}) \le s(d(x_{2n(k)}, x_{2m(k)-2}) + d(x_{2m(k)-2}, x_{2m(k)-1})).$$

Taking $k \rightarrow \infty$ in (2.18), we get

(2.19)
$$\limsup_{k\to\infty} d(x_{2n(k)}, x_{2m(k)-1}) \le s\varepsilon.$$

Using (2.17) and (2.19), we obtain

(2.20)
$$\varepsilon \leq \limsup_{k \to \infty} (\beta(\mathscr{L}(x_{2n(k)}, x_{2m(k)-1}))\mathscr{L}(x_{2n(k)}, x_{2m(k)-1}))$$
$$= \limsup_{k \to \infty} \beta(\mathscr{L}(x_{2n(k)}, x_{2m(k)-1})) \limsup_{k \to \infty} d(x_{2n(k)}, x_{2m(k)-1}))$$

$$\leq s\varepsilon \limsup_{k\to\infty} \beta(\mathscr{L}(x_{2n(k)},x_{2m(k)-1}))$$

which implies that $\frac{1}{s} \leq \limsup_{k \to \infty} \beta(\mathscr{L}(x_{2n(k)}, x_{2m(k)-1})) \leq \frac{1}{s}$. From $\beta \in \mathscr{B}$ we conclude that $\lim_{n \to \infty} \mathscr{L}(x_{2n(k)}, x_{2m(k)-1}) = 0$. Hence,

(2.21)
$$\lim_{n \to \infty} d(x_{2n(k)}, x_{2m(k)-1}) = 0.$$

Using (2.15) and the *b*-triangular inequality, we get

(2.22)
$$\varepsilon \leq d(x_{2n(k)}, x_{2m(k)}) \leq s(d(x_{2n(k)}, x_{2m(k)-1}) + d(x_{2m(k)-1}, x_{2m(k)})).$$

Taking $k \rightarrow \infty$ in (2.21) and using (2.22), we obtain

$$\limsup_{k\to\infty} d(x_{2n(k)}, x_{2m(k)}) = 0.$$

This contradicts (2.15). This implies that $\{x_{2n}\}$ is a *b*-Cauchy sequence and hence there exists $\theta \in X$ such that $\lim_{n \to \infty} x_n = \theta$. If *f* is continuous, we get

(2.23)
$$f\theta = \lim_{n \to \infty} fx_{2n} = \lim_{n \to \infty} x_{2n+1} = \theta.$$

Using (2.11), we obtain

(2.24)
$$sd(\theta, g\theta) = sd(f\theta, g\theta) \le \beta(\mathscr{L}(\theta, \theta))\mathscr{L}(\theta, \theta),$$

where

$$\begin{aligned} \mathscr{L}(\theta,\theta) &= \max\left\{ d(\theta,\theta), \frac{d(\theta,f\theta)[1+d(\theta,g\theta)]}{1+d(\theta,\theta)}, \frac{d(\theta,f\theta)[1+d(\theta,g\theta)]}{1+d(f\theta,g\theta)} \right\} \\ &\leq d(\theta,g\theta). \end{aligned}$$

From $\beta \in \mathscr{B}$ we conclude that

$$sd(\theta,g\theta) \leq \beta((\theta,\theta))d(\theta,g\theta) \leq d(\theta,g\theta).$$

Hence, $g\theta = \theta$. If g is continuous, then, by a similar argument to that of above, one can show that f, g have a common fixed point. Now, we prove the uniqueness of the common fixed point. Let y = fy = gy, is another common fixed point for f and g. Using (2.11), we obtain

(2.25)
$$sd(\theta, y) = sd(f\theta, gy) \le \beta(\mathscr{L}(\theta, y))\mathscr{L}(\theta, y),$$

where

$$\begin{aligned} \mathscr{L}(\theta, y) &= \max\left\{ d(\theta, y), \frac{d(\theta, f\theta)[1 + d(y, fy)]}{1 + d(\theta, y)}, \frac{d(\theta, f\theta)[1 + d(y, fy)]}{1 + d(f\theta, fy)}, \frac{d(\theta, fy) + d(y, f\theta)}{2s} \right\} \\ &= d(\theta, y). \end{aligned}$$

Hence, $\theta = y$ and the common fixed point f and g is unique.

Corollary 2.1. Let (X,d) be a *b*-complete *b*-metric space with $s \ge 1$. Let *f* be self-mapping on *X* which satisfy

(2.26)
$$sd(fx, fy) \le \beta(\mathscr{L}(x, y))\mathscr{L}(x, y), \quad \forall x, y \in X,$$

where

$$\mathscr{L}(x,y) = \max\left\{ d(x,y), \frac{d(x,fx)[1+d(y,fy)]}{1+d(x,y)}, \frac{d(x,fx)[1+d(y,fy)]}{1+d(fx,fy)} \right\},\$$

and $\beta \in \mathscr{B}$. If f is continuous, then f has a unique fixed point.

Proof. Taking f = g in Theorem 2.2, we get the following result.

Example 3. Let X = [0,1] and $d: X \times X \to [0,\infty)$ be defined by $d(x,y) = |x-y|^2$, for all $x, y \in [0,1]$. Apparently, (X,d) is a *b*-metric space with parameter s = 2. Take $fx = \frac{x}{6}$ for all $x \in X$ and $\beta(t) = \frac{1}{6}$ for all t > 0. Then,

$$2d(fx, fy) = 2\left|\frac{x}{6} - \frac{y}{6}\right|^2$$
$$= \frac{1}{18}|x - y|^2$$
$$\leq \frac{1}{6}|x - y|^2$$
$$\leq \beta(\mathscr{L}(x, y))\mathscr{L}(x, y).$$

Then, the conditions of Corollary 2.1 are satisfied.

ACKNOWLEDGMENT

The authors would like to thank the support for the Research and Development Institute of Rambhai Barni Rajabhat University.

CONFLICT OF INTERESTS

The author(s) declare that there is no conflict of interests.

REFERENCES

- [1] S. Czerwik, Contraction mappings in *b*-metric spaces, Acta Math. Inform. Univ. Ostrav. 1 (1993), 5–11.
- [2] I.A. Bakhtin, The contraction mapping principle in almost metric space. Funct. Anal. Ulyanovsk. Gos. Ped. Inst. Ulyanovsk 30 (1989), 26–37. (In Russian).
- [3] R. Koleva, B. Zlatanov, On fixed points for Chatterjeas maps in *b*-metric spaces. Turk. J. Anal. Number Theory, 4 (2016), 31–34.
- [4] P. Sukprasert, P. Kumam, D. Thongtha, K. Sombut, Fixed point result on generalized $(\psi, \phi)_s$ -contractive mappings in rectangular *b*-metric spaces, Commun. Math. Appl. 7 (2016), 207-216.
- [5] R. Miculsecu, A. Mihail, New fixed point theorems for set-valued contractions in *b*-metric spaces. J. Fixed Point Theory Appl. 19 (2017), 2153–2163.
- [6] W. Kumam, P. Sukprasert, P. Kumam, A. Shoaib, A. Shahzad, Q. Mahmood, Some fuzzy fixed point results for fuzzy mappings in complete b-metric spaces, Cogent Math. Stat. 5 (2018), 1458933.
- [7] Z.D. Mitrović, A note on the results of Suzuki, Miculescu and Mihail. J. Fixed Point Theory Appl. 21 (2019), 24.
- [8] S. Phiangsungnoen, W. Sintunavarat, P. Kumam, Fixed point results, generalized Ulam-Hyers stability and well-posedness via α -admissible mappings in b-metric spaces, Fixed Point Theory Appl. 2014 (2014), 188.
- [9] J.R. Roshan, V. Parvaneh, I. Altun, Some coincidence point results in ordered b-metric spaces and applications in a system of integral equations. Appl. Math. Comput. 226 (2014), 725–737.
- [10] C. Mongkolkeha, Y.J. Cho, P. Kumam, Fixed point theorems for simulation functions in *b*-metric spaces via the *wt*-distance, Appl. Gen. Topol. 18 (2017), 91–105.
- [11] H. Piri, P. Kumam, Fixed point theorems for generalized F-Suzuki-contraction mappings in complete b-metric spaces, Fixed Point Theory Appl. 2016 (2016), 90.
- [12] P. Sukprasert, M. Nazam , M. Arshad, K. Muangchoo-in, Fixed point results for α_s -nonexpensive mappings on *b*-metric spaces, Thai J. Math. 18 (2020), 38–52.
- [13] H. Faraji, D. Savić, S. Radenović, Fixed point theorems for geraghty contraction type mappings in b-metric spaces and applications, Axioms. 8 (2019), 34.

- [14] D. Zhao, Fast finite element solver for incompressible Navier-Stokes equation by parallel Gram-Schmidt process based GMRES and HSS, J. Math. Comput. Sci. 5 (2015), 280–296.
- [15] J. Pecaric, A. Perusic, A. Vukelic, Generalisations of Steffensen's inequality via Fink identity and related results, Adv. Inequal. Appl. 2014 (2014), 9.
- [16] W. Kirk, N. Shahzad, Fixed Point Theory in Distance Spaces; Springer, Berlin, Germany, 2014.
- [17] M. Boriceanu, Strict fixed point theorems for multivalued operators in *b*-metric spaces, Int. J. Mod. Math. 4 (2009), 285–301.
- [18] M.A. Geraghty, On contractive mappings. Proc. Amer. Math. Soc. 40 (1973), 604–608.
- [19] D. Dukic, Z. Kadelburg, S. Radenovíc, Fixed points of Geraghty-type mappings in various generalized metric spaces. Abstr. Appl. Anal. 2011 (2011), 561245.